
SEED TEAM GP WINS LOSSES TIES POINTS GOAL DIFF
1 PREDATORS 4 2 2 0 4 +5

2 KINGS 4 2 2 0 4 +2

3 FLYERS 4 2 2 0 4 +3

GAME RESULTS
Predators beat the Kings
Predators beat the flyers
Kings beat the Flyers

NOTES
Clear winner as all 3 teams involved played each other. Predators beat both to earn the higher seed, Kings beat the flyers to 
earn the next seed. 

3 WAY TIE
ALL TEAMS PLAYED EACH OTHER (Clear winner)

3 WAY TIE
2 out of 3 TEAMS PLAYED EACH OTHER (No clear winner)

SEED TEAM GP WINS LOSSES TIES POINTS GOAL DIFF
3 FLYERS 3 1 2 0 2 +2

4 PREDATORS 3 1 2 0 2 0

5 KINGS 3 1 2 0 2 -1

GAME RESULTS
Flyers Beat the Predators
Kings Beat the Predators

NOTES
Predators and Flyers DID NOT play each other.
 
All 3 teams would have needed to play each other to determine a clear head to head winner. 
Therefore, we can not use H2H, and all teams have 1 win, we will move to GOAL DIFFERENTIAL. 
Even though the Kings beat the Predators, we will not go back to the top and use H2H, we continue down the tie breaker 
criteria. 
GOAL DIFFERENTIAL: Flyers +2, Predators 0, Kings -1. 
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SEED TEAM GP WINS LOSSES TIES POINTS GOAL DIFF GOALS AGAINST
2 KINGS 3 1 2 0 2 +3 6

3 PREDATORS 3 1 2 0 2 +2 5

4 FLYERS 3 1 2 0 2 +2 7

GAME RESULTS
Flyers beat the Predators
Predators beat the Kings
Kings beat the Flyers

NOTES
This situation has all 3 teams beating each other one way or another.
With no clear winner (H2H), and all teams having 1 win, we move to GOAL DIFFERENTIAL  

GOAL DIFFERENTIAL: Kings +3, Predators +2, Flyers +2.
Predators & Flyers have the same GD, we will then move to GOALS Against; Predators 5GA, Flyers 7GA.
Even though the Flyers beat the Predators, we will not go back to the top and use H2H, we continue down the tie breaker 
criteria. 

SEED TEAM GP WINS LOSSES TIES POINTS GOAL DIFF
1 FLYERS 3 2 1 0 4 +3

2 PREDATORS 3 2 1 0 4 +5

3 KINGS 3 2 1 0 4 +4

GAME RESULTS
Flyers beat the Predators
Flyers beat the Kings

NOTES
Kings & Predators did NOT play each other, but neither beat the Flyers. 
Kings vs predators would have been irrelevant to the Flyers seed in this situation.
Flyers beating both teams make them the clear winner and the higher seed.

If either the Predators or Kings had beat the Flyers then we would have move to (most wins, then;) GOAL DIFFERENTIAL for 
all 3 teams. 

Since Predators & Kings did not face each other, and have 2 wins each, we will move to the next tie breaker for those two 
teams; GOAL DIFFERENTIAL: Predators +5, Kings +4. 

3 WAY TIE
2 out of 3 TEAMS PLAYED EACH OTHER (1 Clear winner)

3 WAY TIE
ALL TEAMS PLAYED EACH OTHER (No clear winner)
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SEED TEAM GP WINS LOSSES TIES POINTS GOAL DIFF
2 KINGS 3 2 1 0 4 +5

3 PREDATORS 3 2 1 0 4 +4

4 FLYERS 3 2 1 0 4 +2

5 BRUINS 3 2 1 0 4 +1

GAME RESULTS
Flyers beat the Kings
Flyers beat the Predators
Predators beat the Bruins

All other match ups between teams listed did NOT occur.

NOTES
No clear winner here since all teams did NOT play each other. All teams have 2 wins, so we move to GD.
GOAL DIFFERENTIAL: Kings +5, Predators +4, Flyers +2, Bruins +1.

Even though the Flyers beat the 2 teams above them, all teams would have needed to play each other for the HEAD TO 
HEAD tie breaker to be in effect. Goal Differential is now the deciding factor.

All other possible scenarios not listed will be explained by Tournament Director if necessary.

4 WAY TIE
SOME TEAMS PLAYED EACH OTHER
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